Y ERIS

HAEUFEXDY ERUIINRE

(B) H#5F4H1H8
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SH=HN CBHEFREMIERR)

() SH6%3H31H

(B4 : [)

BERIE (B8 a5t PIEBERBISHZE BEXSET
TIEERPRBZEINA 480, 150, 649 480, 150, 649 480, 150, 649
REREFMRUNA 280, 000 280, 000 280, 000
H)Z\ ZHFI SR HEINA 11,185 11,185 11,185
% ZOAMBOULA 1,167,418 1,167,418 1,167,418
i BEFEHINAGT (1) 481, 609, 252 481, 609, 252 481, 609, 252
) BT 368, 765, 762 368, 765, 762 368, 765, 762
c E= 5 71,002, 457 71,002, 457 71,002, 457
& BHETH 38, 695, 096 38, 695, 096 38, 695, 096
E i FIFAE B0 71, 860 71, 860 71, 860
% Zofiozit 44,749 44,749 44,749
TRBEE MRS L2 ERMEE 0 0
s|FEEIEET (2) 484,585, 924 484,585, 924 484,585, 924
BEFHESINZELE (3) = (1) - (2) -2,976, 672 -2,976, 672 -2,976, 672
ﬁg VB TEGHENER DN 913, 000 913, 000 913, 000
= | A MEEEEMEURAGT (4) 913, 000 913, 000 913, 000
g [EE EERUS S 2,721,788 2,721,788 2,721,788
(; W TPAFTY A )-2UEBORFEZ 4,300, 560 4,300, 560 4,300, 560
1451 MR EmE T T (5) 7,022, 348 7,022, 348 7,022, 348
¥ |MEEEREEERINTZ%E (6) = (4) — (5) -6, 109, 348 -6, 109, 348 -6, 109, 348

T

,E_. f ZOMMOEENIAGT (7) 0 0 0
| = |EmesesH 120, 000 120, 000 120, 000
¢ |t [zomoEE = (8) 120, 000 120, 000 120, 000
E TOMOEBERINZZEE (9) = (7) - (8) -120, 000 -120, 000 -120, 000
LEAESINZERESST (10) = (3) + (6) + (9) -9, 206, 020 -9, 206, 020 -9, 206, 020
BRI ERKES (11) 267,797, 289 267,797, 289 267,797, 289
LHEARZINERES (10) + (11) 258,591, 269 258, 591, 269 258, 591, 269




